
DAILY BASIS ASSIGNMENT 

          DAY: FRIDAY                 CLASS: V                    DATE:15.05.2020  

         

  SUBJECT: ENGLISH 

I. The following questions are from unit-2 (Ivan’s story) of literature book. 

1. Mud had a ______. 

a. Twin brother named Tag 

b. Younger sister named Tag 

c. Twin sister named Tag 

d. Younger brother named Tag 

2. To make his picture, Mud used _____. 

a. Sap from leaves 

b. Fruit 

c. Mud 

d. All of these 

3. For a troop of gorillas, a silverback is a protector, ________ 

a. A teacher and a guide. 

b. A follower and an entertainer. 

c. A leader and a bully. 

d. An expert hunter. 

4. As they grow, gorillas learn skills to survive in the jungle. They also learn how to 

be _________ 

a. Kind, Strong and loyal. 

b. Frightening and strong. 

c. Kind and loyal. 

d. Smart and clever. 

5. Mack raised Mud as a _______ 

a. Pet. 

b. Circus animal. 

c. Human baby. 

d. Wild animal. 

 

  SUBJECT: EVS 

1.  CHOOSE THE CORRECT ANSWER.                                                                                                   

1. Which of the following seed or plant are not dispersed by water? 

   a. Lotus                 b. Coconut           c.   Mangrove plant           d. Dandelion 

2.  Some seeds like cocklebur disperse by animals due to the presence of 

    a. Hooks        b. Fibre               c.  Scattered                   d.  Closed 



3. On the basis of season crops are classified into 

     a. One group                    b. Two groups           c. Three groups                    d. Four groups 

4.   Who grow different crops in different season? 

      a. Animal            b. Agriculture   c. Farmer               d.   Explosion 

 5. To obtain good and healthy crop we should use good quality 

      a. Seeds        b.  Wind          c.  Factory         d.  Explosion 

 

  SUBJECT: MATHS 

 

I. Choose the correct option: 

1) 132×20×5=…… 

a)14500                        b)13200                     c)19800                                d)17600 

2)56000÷800=…….. 

a)50                                 b)80                            c)70                                       d)20 

3) 54×200=…….. 

a)13400                          b)14500                       c)20600                               d)10800 

4) 72000÷90=…….. 

a)800                              b)600                           c)300                                     d)100 

5)212×18=18×…… 

a)120                               b)108                               c)212                                    d)154 

 

 

  SUBJECT: COMPUTER 

 

I. Choose the best options from those given below:- 

i) A computer has large _________ in which it can store very large volume of 

information  

(a) Power  (b) Strength        (c) Memory          (d) Both (a) and (b) 

 

ii) A storage device which has a magnetic medium in a rigid-material disk  

(a) Floppy  (b) DVD      (c)  CD             (d) Hard disk 



 

iii) Primary memory is the ________ memory of the computer  

(a) Internal  (b) External          (c) Universal           (d) Both (a) and (b) 

 

iv) Secondary memory is also known as  

(a) Trash Memory             (b) Universal Memory     

            (c) Auxiliary Memory         (d) Alternate Memory 

 

v) A high volume storage device which has a magnetic medium in a rigid material disk 

(a) Floppy  (b) DVD       (c) CD-ROM              (d) Hard Disk 

 
 

विषय-व िंदी 

 

वदए गए प्रश्न िं के स ी विकल्प चुनें - 

प्रश् 1: इनमें से पुरुषवाचक सववनाम के उदाहरण है- 

(क) मैं (ख) हम (ग) तुम (घ) ये सभी  

प्रश् 2 : इनमें से शुद्ध वाक्य है- 

(क) कुछ याद नही ीं मुझको । 

(ख) याद नही ीं कुछ मुझे । 

(ग) मुझे कुछ याद नही ीं । 

(घ) नही ीं कुछ याद मुझको । 

प्रश् 3 : म नदया -------  मुझे पढाइए । उवचत विकल्प चुनकर विखखए । 

(क) तुम (ख) वह (ग) कौन (घ) आप  

प्रश् 4 : 'कविन 'का स ी वििनम  ै- 

(क) दुष्कर (ख) सरल (ग) दुर्वम (घ) ननमवल  

प्रश् 5 : 'फूिा ना समाना ' मु ािरे का स ी अर्थ  ै - 

(क) बहुत प्रसन्न होना 

(ख) मोनहत होना 

(ग)  हींसना 

(ग) फूल के समान 
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